(11.9)
$$f(x) = \frac{x}{(1+4x)^2}$$

consider
$$\frac{1}{(1+4x)^2}$$

$$= \frac{1}{1+4x} = \frac{1}{(1+4x)^2}$$

$$= \frac{1}{(1+4x)^2} = \frac{1}{(1+4x)^2}$$
So $= \frac{1}{4} \cdot \frac{1}{(1+4x)^2} = \frac{1}{(1+4x)^2}$

Section 11.10 Taylor and Maclaurin Series Page 1

get a

pover series

for this

$$\frac{1}{1+44} = \frac{1}{1-(-44)}$$

$$= \sum_{n=0}^{\infty} (-4x)^n$$

$$= \sum_{n=0}^{\infty} (-4x)^n$$

$$= \left(\frac{1}{4} + \frac{1}{n=0}\right) \left(\frac{1}{4} + \frac{1}{n=0}\right) \left(\frac{1}{4} + \frac{1}{n=0}\right)$$

$$= \left(\frac{1}{4} + \frac{1}{n=0}\right) \left(\frac{1}{4} + \frac{1}{n=0}\right) \left(\frac{1}{4} + \frac{1}{n=0}\right)$$

$$= -\frac{1}{4} \sum_{n=1}^{\infty} (-1)^{n} 4^{n} n \times^{n-1}$$

$$= -\frac{1}{4} \sum_{n=1}^{\infty} (-1)^{n} 4^{n} n \times^{n}$$

$$= \sum_{n=1}^{\infty} (-1)^{n+1} 4^{n-1} n \times^{n}$$

$$= \sum_{n=1}^{\infty} (-1)^{n} 4^{n} (n+1) \times^{n+1}$$

$$= \sum_{n=0}^{\infty} (-1)^{n} 4^{n} (n+1) \times^{n+1}$$